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Brigf Arswer quetiions: f18 o« i =14y
Which & the most vulnerable component in basic data commamnication mode] and why?
What are the advantage and dissdvantege of guard band is lrequesey divisson muliplexing?
fil,  Deling the process segnventation in Transpom Layer,
fv.  Dufino Frame Synchronization.
v, Compare between |0Base-5 and 10Base-T.
vi.  Why a routing slgarithen should have o propeny of mapsd convergense?
wil,  Whin a “sounée quensh™ and “Time exsecded” mesinges are generabed
wiil. Adention the advanlage of 150N over ADEL.
ix. "|||"h.|:|.|: is the similarity between [F and UDFY
. What is the sdvastage of IMAP aver POF?

Ciroap “E"
Kheort Angwer (haestions: 5w 3= I35
2. Explam Digital Sigral Encoding with ils types.
5. Explain asy one error detection method with example,
Explain the procedyres that are involved im rowting of mfomaation using BGP,
Explerihe woerking peisciple of Deisinnze vectar roating algariihm with an example,
“What is DHCP? Explein the types of IF allocation using HCP,
Group <™
Lang Arswer qresiions: 3= 5=1I5
7. Mdentily and explain ow control protecsel with its pypes.

£ 'Write the importance of super-netting. Find a summarized route and a commons submet mask ifa router

9.

has the falloeving mentioned m*prhs in its routing ishle,
198,132,980
198132990
198, 132.100.0
158.132.101.0
166, 132.105.0
Deefine Teanspoit Laver. Explain the services pravided by transpornt Layer.
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